Operaciones con Nimeros Vigesimales (F)

D4HDsy
— 8A20

8FD4Gy | AGy

8F8Dy
+ F8H6sy

7ABDy
— 4DATg

15G4H040|TAx

Calcule cada respuesta.

3292y
X G920

J8I99
— 37E99

2DCC4Cy |3E20

3G2JHB20 |E920

187 J540
— 891E,

29Ds,

X 9G20

3GGGy

+ 434Fs,

75EO9

X F29

2BE3s

X 3299

7BDAy

— 4BDIo

H1284.J99| By

1AB7220|5620

HDC7+
— F54Ey,

08674
+ JIG1q

1F2J59
— H1Aby
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Operaciones con Niumeros Vigesimales (F) Respuestas

D4HDsy
— 8A204

4EFDo

8FD4Gy | AGyg
G569

8F8Dy
+ F8H69,

1445 Jo,

7ABDy
— 4DATg

2H164

15G4H040|TAx
17124

Calcule cada respuesta.

3292y
X G920

2B77DIy

J8I99

— 37E99

G140

2DCC4Cy |3E20
E9HI9,

3G2JHB20 |E920

557 J9q

187 J540

— 891Ey

JIHBy

29Ds,

X 9G20

146B8y

3GGGy

+ 434Fs,

801Bsy

75EO09

X F29

5A01804

2BE3s

X 3299

805H6o

7BDAy

— 4BDIo

2JJCy

H1284.J99| By
H8J 990

1AB7220|5620
5F79g

HDC7+
— F54Ey,

287Dy

C8679
+ JIG1y

1C7285

1F2J59
— H1Ab9

11904
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